m (][]

° X:(Xl,--' 7Xp)7 YZQ(X)

[yfy(y)dy
E[¢(X)] = E[Y] =
[9(X)] = E[Y] {Zyjfy(yj)

{fg x)dxry - -dr,
>_9(xi) fx (xi)

e ¢(X)DODOOOODODDOOOODO 3.23
e kODODDOOOu, = E[X?F]
kO0O0O0D0DDOOOy, = E[|X]|*]
D00D000 kOO0O0O0O000ag = E[(X — up)¥]
e JOODDOODO



m oo

e — 0000 Markov, Chevyshev, Schwarz(]
— dooooo
— dJuooooouoddoooo
—duooooodd
— dooobooododbooooooddoo
— doooooodn
e 34000000 OOO
— Jubooooouddooooodd
— Y=y UOO0ooooooo XO0o0oooooo
—doooooodn



m 00 0O

e X>0000 E[X]>0
E[X] = [zfx(x)dz >0

e X >Y 00O E[X] > E[Y]

- E[X] - E[Y] = /a:fX( )d:v—/ny(

//xfxy:r;ydydaﬁ—//yfxyxydxdy
= [y @aasdy o



0o 3.30

(1) X:00DO0DO0OD0DO00000,ae>0:00
= P(X >a) <E[X]/a
0 (X<
y =30 E<Y 000 B > EY] = aP(X > )
a (X >a)
(2) p=E[X], 0? =Var(X)<occOOOO
P(IX — pl > k) < 0?/k?
S| X —pP0000 (1)0DDOO0O0



000000 X,Y:00000ab: 00

ElaX +b0Y] = //(ax + by) fx.v(x,y)dxdy
= a// rfxy(z,y)drdy + b// yfxy(z,y)dedy
= a/xfx(ﬂf)dCUﬂLb/ny(y)dy

m 00000000 X, Y:O0oooooo

// y)fxy(z,y)dzdy
// y)dxdy

_ / o(x) fx (z)de / (v) fy (y)dy = Elg(X)|E[R(Y)]

5



s 00000000 O
00 3.13X,Y:0000

0000 Cov(X,Y)=E[(X —E[X])(Y — E[Y])]
Cov(X,Y)
v/ Var(X)Var(Y)

00000 p(X,Y) =

0

e 00DIDODOOO
Cov(X,Y) = E[XY] — E[X|E[Y]

e X,Y OODDOOOO
E[XY]=E[X]E[Y] OO Cov(X,Y)=0



e OO OOOOO
E[X?]E[Y?] < (E[XY])®
X, Y OOOoooooooooooooooookgeoOooOooOoO
0 < E[(kX +Y)2] = k2E[X?] + 2kE[XY] + E[Y?]
kOODOOOO0OOO0OOO0O00000
(E[XY])? — E[X2E[Y?] < 0
X,Y0O (X -E[X]), (Y-EY])0D0O0ooO

-1 <p(X,Y) <1

oo



m 000000000 O
X, X,00o0ooooo, a,---,a,000

(1) [Z 0;%;] = Za”
(2) Var [Z 0| = Z Vel
Var [JZ: anj] =k [(Z a;(X; — E[Xj])ﬂ
:zz:z”: D ( Xk — E[Xg])]



Joodoogod

s 00000000000000000 O
XO0(Q,B,P)0O00O000,Be
BOOODOOODOOD XOODOOOO

Py p(A) = P(X(4)|B)

Pxp(x)0 (R'.B;)00000C



" Y =y000000000 X0O000O000 O
0ooooO
fxy(z,y)DOOODODO
Dx = {z1,20,---}0X 000000
Dy ={uy1,y2,---}0Y 000000
ye Dy 000000 Y=y00O0OO0OOOOO
XeAODDODOOODO

P(X EA,Y:ZU) ineA fX,Y(xiay)

PR AN =0 =Ty =y T fr (y)

Y=yOOOOODOOOODO X0O0OO0oooo (oo)ooo

L fX,Y(xv y)

10



Oodood
fxy(z,y)DODOOOOO
Y=y UOUOOoOoooooO XOOooooooono

lim P(X <zly <Y <y+h)

h—0+0
¥ J e {fyy+h fxy(u, v)dv} du
= lim
h—0+ fyﬁU-{-h fy(’U)d’U
= lim _ uly)du,
h—0+ fy (y + 02h)h XY

Jxy O Y=y 000000000 XOOOOODOOOOOoOO

fX,Y(CI?, y)
fy (y)

Fxiy (zly) =

11



m 000 dodooddg 0O
Ood0boooboooboobobnd

Oodooodgond fX|yDDDDDDDDDDDDDDD
(1) fxjy(=,y) =0,
2) [fxyy(zly)de=1000 37, fxy(@ily) =1

oooon
Y=y 0O0O0O0OODOOOOO g(X)OODDOODODO

Blg(X)Y =y] = {zfg g(xa'fm%my) (ooo)

12



h(y) = E[g(X)[Y =y D0ODE[g(X)|Y] 00A(Y) 0DOODOOD

00 3.35
Ey [Elg(X)[Y]] = Ex y[9(X))]

doooouogogd

oo

Ey [E(s(X)|Y)] = [ /- e >fX|y<:c\y>dy] )y

I
RO
/ .



